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(Write your Roll No. on the top immediately on receipt of this question paper:) \1
Attempt six questions in all. Section A is compulsory. ~—

: & - (G

Attempt four more questions, selecting
two questions from each of Section B and C.

foité R codes for each question given in Section B ard C.

fkkr)(/[—/\

Section A i‘ :-"
E\-\
1. Answer the following : X )
. k 5
()  Write down the R-command syntax for computing the - —a
| b et

probability of getting at most three heads in six tosses'. -

of a coin. -
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What is the output of the following R-command :

> punif(1) 2 ‘

What does the y-axis represent in 2 histogram with

unequal class intervals produced in R ?

when external Excel or Text data files, that contains

some missing observations, are read into R, then how

does R pads out this missing information ?

Given the following set of R instructions, fill in the

blank with the appropriate R—command O
>grass.df = Py e graze)

e

i e i
‘data frame’: 9 obs. of 2 variables:
$ rich -t 12 15 Hii158979

¢ graze: Factor wi2 levels 'air'mw","_iinn_‘l‘of.w“: 11111

-
.
i s

22 28k . 15

Write the output of the following R codes

wd

S X = HES, a6, by, X

Il

- y = s&q(1, 10, by = 055 ¥ ’

e o

)
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Write codes for the. following output:
[1]333444555
(1] "markl”, emarkcl, Pk, "mark]”, "mark2”, "mark2”,
miark2”.
Explain the output of the fol}ow_ing R-code segment:
rm(list = Is( ))
F<-numeric(10}
F[1] < -F[2} < -1
for (7 'in_3 - 10) F[i] < -Fl ——_1_.:] + Fli =21
Qrint(i); print(F) V
What is the significance: of haﬁﬁg'a plotting feature/
argument ‘ype’ 7 L
If x is'a vector of length n, write Ricommands to
compute - | l

SmB ;
Exp.laii_iv_me ﬁmctlonsscan() and strucﬁtf_e(ﬁ ) with the
helb of example. ‘ ok B
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b) ‘Thc R-command h = hist{x) produces 2 histogram of

: umcncal object x with cqual class intervals. Thgn-)ynte
: down the commands to. superunposc a frequency pgflygon_

4435
on thls h1stogram

Gwen thc frequency dxsmbunon XN -

S

) 'Computc mean and vanancc

i
(@) Expl

par()
ta frame with name

128 <
“micars” UusiDg the
()  Create da : :

following - |
mpg < —c21, 21, 22.8, 265, 18.7, 20,193,
4,4, 4)

= e
- e ST A
et L FTE e

cyI<—c{3334433

bctwccn mpg i
Create a boxplot graph for the rclahon i

(miles per gallon) and ol (number of cyhnders). 4435 L

Section C
For any given yectors x, ¥ -
() Fit the regression line y on X
K o
y for any given value® of x.

(i) Estimate

residual.
(#i1) Create data frame to stor¢ % s fitted,

(v) Plot regression line of y on *

W

{ore
LA,
p

elow are given thc temperatures of two states :

1 tem = c(18.7, 20‘ 23, 20,21, 28, 29, 18; 19, 20)

__8, 40 37, 38, 40,.34, 45)

“onsider the output below :

(= 13819, df = 13.1-2, p-value = 4.585¢e-11

alternative i1)'polhc$is: true ciifférencq‘.jn means is not equal
10 70

95 percent confidence i B

23.95498 32.53976.
sample estimates
mean of x mean of'y
29.721053 1_473684: :

From the output gwcn above test if the two temperatures

differ awmfcantly Also mtcrprcl your results. 10
Fit a Poisson distribution to the given data X;|f; (7 = b, 2500
and test its goodness of fit. 10




